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ft5H B2+-TH 5223 E| 1 818 R2.2.28 | R10.12.31
f£5H B2+-TH 5224 E| 1 1,114| R2.2.28 | R10.12.31
ft5H B2+-TH 5E23hE| 215 1 625| R2.2.28 | R10.12.31
ft5H =+_-TH 223 E| 238 1 763| R2.2.28 | R10.12.31
ft5H B=+_-TH 2E23hE| 239 1 401| R2.2.28 | R10.12.31
ft5H B2+-TH B2 E| 179 1 644| R2.2.28 | R10.12.31
ft5H B2+-TH B2 E| 179 2 514| R2.2.28 | R10.12.31
ft5H B2+-TH B2 E| 182 1,341| R2.2.28 | R10.12.31
ft5H B2+-TH SE5HhE| 318 852| R2.2.28 | R10.12.31
ft5H B2+-TH ZE5HE 319 380| R2.2.28 | R10.12.31
ft5H B2+-TH BT E 101 605| R2.2.28 | R10.12.31
ft5H B2+-TH ETHE 102 605| R2.2.28 | R10.12.31
ft5H B2+-TH BT E 103 1 529| R2.2.28 | R10.12.31
ft5H B2+-TH ZEHbE| 173 1 737| R2.2.28 | R10.12.31
L& B®+-TH ZE5HE 290 1 972| R2.2.28 | R10.12.31
ft5H B=+ZTH E21E 169 1 712| R2.2.28 | R10.12.31
L& B®+-TH E21E 170 1 778| R2.2.28 | R10.12.31
ft5H B=+ZTH 224 E| 184 1 800| R2.2.28 | R10.12.31
ft5H B=+ZTH 224 E| 185 1 757| R2.2.28 | R10.12.31
ft5H EEREFSE  |F8HE 284 1 750| R2.2.28 | R7.12.31
ft5H LN FE104bE) 1 322| R2.2.28 | R8.12.31
ft5H LN FE104bE) 386 1 6,639| R2.2.28 | R8.12.31
ft5H LN FE104bE) 397 1 317| R2.2.28 | R8.12.31
ft5H LN FE104bE) 397 2 3,228 R2.2.28 | R8.12.31
ft5H LN 10 397 4 3,967| R2.2.28 | R8.12.31
ft5H LN 10 397 5 107| R2.2.28 | R8.12.31
ft5H LN 10 397 3 2,207| R2.2.28 | R8.12.31
ft5H LN ETHbE 441 1 4,831| R2.2.28 | R8.12.31
ft5H LN FE11HpE 290 4500| R2.2.28 | R11.12.31
LE™ —HiE B2 HIE] 266 2,166| R2.2.28 | R7.12.31
LE™ —HiE B2 HIE] 262 1,563 R2.2.28 | R7.12.31




FREZRET 2 RAM
2 i & ﬁ}%(mz) B8 | BRI
(B

t&™ FE2H0E 267 1,736 R2.2.28 R7.12.31
Lsh FE2HE| 259 2,336| R2.2.28 R7.12.31
Lsh FE2E| 260 1,567 R2.2.28 R7.12.31
Lsh FE2E| 261 3,202 R2.2.28 R7.12.31
Lsh FE2E| 266 1 668 R2.2.28 R8.12.31
Lsh A 19 48 1 3,006| R2.2.28 R7.12.31
P22 1] RN F19#E] 66 2 135| R2.2.28 R7.12.31
L& RN F19#E] 66 3 418 R2.2.28 R7.12.31
b= 1] RN F19#E] 66 4 284| R2.2.28 R7.12.31
b= 1] RN F19#E] 66 5 132] R2.2.28 R7.12.31
L& RN F19#E] 384 1 1,973| R2.2.28 R7.12.31
b= 1] RN FE19H | 384 2 700 R2.2.28 R7.12.31
b= 1] RN FE19H | 385 2,638| R2.2.28 R7.12.31
b= i) = FAHE 29 1 1,752 R2.2.28 R7.12.31
b= i) = FAHE 30 1 791 R2.2.28 R7.12.31
b= i) = FAHE 30 2 1,000f R2.2.28 R7.12.31
b= i) = FAHE 51 2 1,864 R2.2.28 R7.12.31
R3] Ea S 5 HE 1206 2,050 R2.2.28 R7.12.31
b= 1] Ea S 5 HE 1207 2,308| R2.2.28 R7.12.31
b= 1] EaS F2HE 38 3,178| R2.2.28 R9.12.31
b= i) Ea S F2HE 39 800 R2.2.28 R9.12.31
L& F2HE 39 2,331 R2.2.28 R9.12.31
L& F2HE 40 3,284 R2.2.28 R9.12.31
L& FIHE 141 2,894 R2.2.28 R9.12.31
L& FIHE 142 3,374 R2.2.28 R9.12.31
L& F19#E 10 1,033 R2.2.28 R7.12.31
L& THEI 279 2,881 R2.2.28 R10.12.31
L& THEI 116 3,925| R2.2.28 R10.12.31
L& THEI 117 3,904| R2.2.28 R10.12.31
L& THEI 251 2,986| R2.2.28 R10.12.31
L& THEI 252 2,902 R2.2.28 R10.12.31
L& THEI 258 2,914 R2.2.28 R10.12.31
L& THEI 280 2,942 R2.2.28 R9.12.31
L& THEI 360 2 365 R2.2.28 R9.12.31
L& THEI 361 1 3,407 R2.2.28 R9.12.31
L& THEI 362 1 2,384 R2.2.28 R9.12.31
L& THEI 359 2 1,878 R2.2.28 R9.12.31
L& THEI 360 1 1,227 R2.2.28 R9.12.31




FREZRET 2 RAM

2 i & ﬁ}%(mz) B8 | BRI
(B

t&™ & THeE| 360 3 1,897 R2.2.28 R9.12.31
Lsh I THIE 358 1 3,483| R2.2.28 R9.12.31
Lsh I THIE 359 1 1,609 R2.2.28 R9.12.31
Lsh A THIE 357 1 2,970 R2.2.28 R9.12.31
Lsh I 13tb ] 293 1 2,084 R2.2.28 R9.12.31
Lsh A 13tb ] 293 2 106| R2.2.28 R9.12.31
P22 1] & 13tbE] 294 3,134 R2.2.28 R9.12.31
L& & 13bE) 295 3,204 R2.2.28 R9.12.31
b= 1] & 13tbE] 296 2,201 R2.2.28 R9.12.31
b= 1] & 13tbE] 296 947| R2.2.28 R9.12.31
L& & 13bE) 297 3,190 R2.2.28 R9.12.31
b= 1] & 135 298 3,150 R2.2.28 R9.12.31
b= 1] & 135 299 3,131 R2.2.28 R9.12.31
b= i) & 135 300 3,111 R2.2.28 R9.12.31
b= i) & 135 301 3,247 R2.2.28 R9.12.31
b= i) & 135 302 2,803| R2.2.28 R9.12.31
b= i) & 145 302 353| R2.2.28 R9.12.31
R3] EEH 145 303 2,275 R2.2.28 R10.12.31
b= 1] & 145 304 1 4,225 R2.2.28 R10.12.31
b= 1] & THE 354 2 2,445| R2.2.28 R10.12.31
b= i) & THE 362 2 1,160 R2.2.28 R10.12.31
L& A BSAETILEFM F2HE 271 1 1,882 R2.2.28 R7.12.31
L& ABSAETILEFM F2HE 271 2 54| R2.2.28 R7.12.31
L& A ESAETILFM F2HE 272 1 2,006| R2.2.28 R7.12.31
L& A BSAETILEFM F2HE 273 1 1,481 R2.2.28 R7.12.31
L& A BSAETILEFM F2HE 274 1 514 R2.2.28 R7.12.31
L& ANH E18#HE| 87 2 2,133 R2.2.28 R9.12.31
L& ANH E18#HE| 88 2,954 R2.2.28 R9.12.31
L& ANH E34:0E| 618 1,853 R2.2.28 R7.12.31
L& ANH E3430E| 619 1,074 R2.2.28 R7.12.31
L& ANH E34:0E| 619 900 R2.2.28 R7.12.31
L& ESIN E1HR 312 1,913 R2.2.28 R7.12.31
L& ESIN E1HR 313 6,052| R2.2.28 R7.12.31
L& RR E23h R 94 1,201 R2.2.28 R9.12.31
L& RR E23h R 95 1,618 R2.2.28 R9.12.31
L& RR E23h R 96 1,534 R2.2.28 R9.12.31
L& RR E23h R 190 6,057 R2.2.28 R9.12.31
L& A=EE F1HE 190 2,843 R2.2.28 R6.12.31




FREZRET 2 RAM

RF i & ﬁ}%(mz) B8 | BRI
(B

t&™ A= F1HE| 191 1,700 R2.2.28 R6.12.31
Lsh RIR EAE| 181 1 881 R2.2.28 R9.12.31
Lsh IRIR EAE| 182 1 1,471 R2.2.28 R9.12.31
Lsh RIR FEAE| 183 1 4,216| R2.2.28 R9.12.31
Lsh IRIR EAE| 184 1 265 R2.2.28 R9.12.31
Lsh RIR EAE| 185 5,833| R2.2.28 R9.12.31
P22 1] RIR F3HE 347 3 3,128 R2.2.28 R9.12.31
L& RIR F3HE 348 4,810 R2.2.28 R9.12.31
b= 1] RIR FAHE 184 2 2,887 R2.2.28 R9.12.31
b= 1] RIR FAHE 184 3 1,800| R2.2.28 R9.12.31
L& RIR FAHE 184 4 1,986| R2.2.28 R9.12.31
b= 1] RIR FEIHE 450 1 370 R2.2.28 R9.12.31
b= 1] RIR FEIHE 451 676 R2.2.28 R9.12.31
b= i) RIR FEIHE 455 2,013| R2.2.28 R9.12.31
b= i) &0 ETHE 292 3,107 R2.2.28 R8.12.31
b= i) &0 ETHE| 293 1 2,625| R2.2.28 R8.12.31
b= i) KA FeHE 214 3 8,082 R2.2.28 R8.12.31
R3] A BERTRF F3HE 1174 1,751 R2.2.28 R8.12.31
b= 1] A BERTRF F3HE 1175 2,307 R2.2.28 R8.12.31
b= 1] A BERTR S F3HE 1176 2,817 R2.2.28 R8.12.31
b= i) A BEBTRF F3HE 1186 1 3,300 R2.2.28 R8.12.31
L& A BEBTR S F3HE 2 168| R2.2.28 R8.12.31
L& RN FOHE 301 1 1,800 R2.2.28 R11.12.31
L& A FOHE 301 2 4,010 R2.2.28 R11.12.31
L& HRIR FAHE 227 2,146| R2.2.28 R8.12.31
L& HRIR FAHE 228 2,087 R2.2.28 R8.12.31
L& IR E4 R 231 1,013 R2.2.28 R8.12.31
L& IR 4R 232 1,438 R2.2.28 R8.12.31
L& IR E4 R 233 761 R2.2.28 R8.12.31
L& AEEEER EIHR| 2 1 1,087 R2.2.28 R6.12.31
L& AEEETER EIHR| 3 1 1,277 R2.2.28 R6.12.31
L& ABAETER EIHR| 3 2 303 R2.2.28 R6.12.31
L& ABAETER EIHR| 4 1 3,292 R2.2.28 R6.12.31
L& ABAETER FoHE| 5 1,334 R2.2.28 R6.12.31
L& ABAETER EIHR| 6 11 1,593 R2.2.28 R6.12.31
L& ABAETER EIHR| 74 1 845 R2.2.28 R6.12.31
L& ABAETER FEoHE| 75 1 223 R2.2.28 R6.12.31
L& ABAETER E10#E 173 1 1,481 R2.2.28 R6.12.31




FREZRET 2 RAM

RF 2 i E}Fﬁ\(rﬁ) B8 | BRI
(B

t&™ ABAETER F104E 173 1,268 R2.2.28 R6.12.31
Lsh ABAETER E10:ZE 182 320 R2.2.28 R6.12.31
Lsh ABAETER E10: 2 184 152| R2.2.28 R6.12.31
Lsh ABAETER E10HZE 185 32| R2.2.28 R6.12.31
Lsh AERHRES B 10 E 1 839 R2.2.28 R6.12.31
Lsh AERHRES B 10 E 5 1,129 R2.2.28 R6.12.31
P22 1] AR REF F1HE 6 1,103| R2.2.28 R6.12.31
L& AR REF F1HE 1 1,832 R2.2.28 R6.12.31
b= 1] AR REF F1HE 4 2,058 R2.2.28 R6.12.31
b= 1] AR REF F1HE 5 1,240 R2.2.28 R6.12.31
L& AR REF F1HE 6 631| R2.2.28 R6.12.31
b= 1] AR RES F1HE 3 102| R2.2.28 R6.12.31
b= 1] & THE 281 2,7185| R2.2.28 R9.12.31
b= i) & THE 273 2,996| R2.2.28 R10.12.31
b= i) & THE 274 2,842 R2.2.28 R10.12.31
b= i) WA 1135 507 R2.2.28 R7.12.31
b= i) AR E F2HE 1,198 R2.2.28 R9.12.31
R3] RS F2HE 1,709 R2.2.28 R9.12.31

312,123mi




